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| Solve systems of linear equations using inverse matrices Example-1 -JUs+{1A,18) 380

(yhaall ygSnn) Sl 0 Bmall phikialy ] CYolaal il o (19) 184

Sl o) (¥ alagd) aLAY Joud LewSal) ABgiagd) pasuiul
1A. 6x+y=—8 1B. —3x + 9y =36
—4x — by = —12 7x — 8y = —19
«S%¥alae plad S oud deusSa)l 49 gyl p Sl
oSl
1. ox -2y =11 2. 2x+3y =2
—4x+7y =2 x—4y=-21
3. —3x+5y=33 4. —4x+y=19
2x — 4y = —26 3x — 2y = —18
5. 2x +y—z=-13 6. 3x — 2y + 8z = 38
3x + 2y — 4z = —36 6x + 3y — 9z = —12
x+ 6y —3z=12 4x + 4y +20z=0
1 x+2y—z=2 8. dx+6y+z=—1
2x—y+3z=4 —x—y+8z=38

Ix+y+2z2=6 bx —4y + 11z =21



Find the midpoint of a segment on the coordinate plane Example-1 -Ja+{1A,18) 407

Ao Gl o daiuns dadad o dad dln) (10-15) 40

i

O e
B(—4,8) 5 A5, 12) > o AB demiwl) dalanl) Camnie dlam dlas) asgl 1A

D(14,13) 5 C(4, 5) Ui o CD aeinis)) dalan)) caazie adam sdlas) axgl .1B



Find the midpoint of a segment on the coordinate plane _ Example-1 -Jle+{1A,18) _ 407

Y1 gt Jo dagns o i Lt b (10-15) 40
laagd) GLSlus ) sie (i ol pidadi) ol deditiued! datadl) Craticl) ddadd do gl
10. (20, 3), (15, 5) 1. (=27, 4), (19, —6) 12. (—0.4,7), (11, —1.6)

13. (5.4, —8), (9.2, 10) 14. (—5.3,—8.6), (—18.7,1) | 15. (—6.4, —8.2), (—9.1, —0.8)



Find the distance between two points on the coordinate plane

| (1623 40
oY gl o (il o el S
AgLS o) dlaaed) Joladl (po Z9) US Cm ABlwedl do gl
16. (1, 2), (6, 3) 17. (3, —4), (0, 12)
18. (—6, —7), (11, —12) 19. (—10, 8), (—8, —8)

22. (—4, —5), (15, 17) 23. (14, —20), (—18, 25)



=
x=aly-k) +h

.
y=alx-h +k

Ll 8 5 0 s 15 gl a>0 calsds) LU 2ac %] gl
a < 0 =il 1s) a Oh2K ) 4.5
(h, k) (h, k) dtleT)
y = k = Joled! 290
1 1

P h. k —_ - 8
(h+ = k) ( 4= 40) FYA|
X:h_L y:k—L oJ)

4a 4a S
Sa>g —;‘ da>g E\ s3] 5,8 Sl Jobo




Write equations of parabolas in standard form (1-4)

Al sy 9 ] CYolan A0S (14-19)

417

8 alonily aliles janas (A adaddl iy S dewlad) ddualls Walag JS S

1. y=2x>— 24x + 40 2. y=23x>—6x— 4



Write equations of parabolas in standard form (1-4)

Al sy 9 ] CYolan A0S (14-19)

417

iid alonily Aliled jeonag (LS adaddl ol ) 3do . dwlbid) ddually Walao JS S/

3. x=y>—8y—11 4. x + 3y*> + 12y = 18



Write equations of parabolas in standard form (1-4)

Al sy 9 ] CYolan A0S (14-19)

417

iid alonily Aliled jeonag (LS adaddl ol ) 3do . dwlbid) ddually Walao JS S/

14. y =x? —8x + 13 15. y = 3x% + 42x + 149 16. y = —6x% — 36x — 8



Write equations of parabolas in standard form | (14) "
Al sy 9 ] CYolan A0S (14-19)
iid alonily Aliled jeonag (LS adaddl ol ) 3do . dwlbid) ddually Walao JS S/

17. y = —3x2 — 9x — 6 18. x= S y2— 3y +4 19. x = 5y2 — 4y + 12



(5-4)

Graph parabolas
Ly &85 ool ke (20-25)
fla Walae JS e
5. y=(x—4)>—6
\ 134
A K7 LT . D \\ .
6 6 \ 6
\V) 4 | 4
’ / \Rz/
T 8—6—4—20 X 8—6—4—20 3 X :8—6—4—i20 ) X
—4 L4 —4
—6 —6 —6
‘—8” —8 |—8u




(5-4)

Graph parabolas
417
Lol &63650) bl Jkad (20-25)
il Walae JS (e
6. y=4(x+5)2+3
A A by 4 by Ay D Ay
8 8
|/ v B -~
- \/ = - - /, X
—8—6—4_|20 4 8 X —8—6—4—20 8 X -1 ([ y
:2 l—4 B \\\ =
—6 P X
¢ ¢ ol 2 46 SN%\MMX / \
y B * ! *



(5-4)

Graph parabolas
a17
AR RN (20-25)
fole Walae JS Lo
7. y=—3x>—4x—38
A ~ [ D * 8ny
4 6 8X 2 \ 6
4 \ 4
2 \Rz/
) \ X 8—6—4—20 g X 18—6—4—?0 ) 4 68X
|
\ i "
\ —6
\ ‘8 I




(5-4)

Graph parabolas
a17
Gty G5 gl il
ol Walee US S
8. x=3y>?—6y+9
A Ay Ay 1Y t
8
6 -3 7
VvV ) //'
- - > /, X
o] \\ —8—6—4—120 2 4 6 8X B [ y
\
T - \. _
» - % I 10
¢ ol 2 2 6 SN%\MMX
Ly \ B * ! *



Graph parabolas (5-8)
a17

(o 23Kl gyl ik (20.25)

20. y = l3 x?2

A 7 B e D[ [ I\ W] 4
4 6 8X 2 \ 6 /

4 4

/
X 8—6—4—20 4 8 X —8—6—4—20| 2 4 6 8X

\\ L4 |—4

[ ] )\ 0 -

' A * _8" |—8u




Graph parabolas (5-9)
417
G &) ol L 0
Lole Walae JS fio
21. y = —2x2
A . A 8‘7 v C . Ly D by
6
\\ A
] N[/ . C ) .
—8—6—4—20 8 X o) x o| ] \ [ x
I, k \
e \ /- [ 11\
|y Y Y. v Y




(5-4)

Graph parabolas
417
by K gl sl
Gily Walae JS oo
22. y=-2(x—2)2+3
A 7! ] C by N
4 6 8x \\ 6
4
2
) ~ F - 0 II X 18—6—4}}/( 6 8x
k —4
\ /- i -




(5-4)

a1l

Graph parabolas
Ly &85 ool ke (2025)
fla Walae JS e
A . yA :
" B
/
. / X [ k
i X ‘ i | \ [x
\ a \
‘-‘-.\ -




Graph parabolas (5-9)
417
(ke Kl il L (20:5)
Gl Uslae JS s
'
24. x = —2 y
A vy ly C Ay D 4
I =
/s . -
- o/ L ) O r X I ‘ S -t -
\ x \ o) X X
Y y 1 Y A *




Graph parabolas (5-9)
417

(ke Kl il L (20:5)

Lole Walae JS fio
25. 4x —y? =2y + 13
A Ly Iy C  y D 24
I =
/s . -
ok ; T i ‘ TN :
X \ X X
Y y 1 Y A *




Graph parabolas | (9-12)
iy 40K bl (2631)

Y

Loly Walag) fio pi .0l b ge (S0 pdad ST Walag S|

R ad *» 4

(0, 4) 5,51 (0, 2) Lol 1.9

..............................................................................................................................................

................................................................................................................................................

................................................................................................................................................

................................................................................................................................................

................................................................................................................................................




Graph parabolas | (9-12)
iy 40K bl (2631)

Y

Loly Walag) fio pi .0l b ge (S0 pdad ST Walag S|
x=—14Ju) (=2, 4) L0 .10

..............................................................................................................................................

................................................................................................................................................

................................................................................................................................................

................................................................................................................................................

................................................................................................................................................




Graph parabolas | (9-12)
iy 40K bl (2631)

Y

Loly Walag) fio pi .0l b ge (S0 pdad ST Walag S|

R ad *» 4

y =8 JJull (3, 2) 5,5 .11

..............................................................................................................................................

................................................................................................................................................

................................................................................................................................................

................................................................................................................................................

................................................................................................................................................




Graph parabolas | (9-12)
iy 40K bl (2631)

Y

Loly Walag) fio pi .0l b ge (S0 pdad ST Walag S|

R ad *» 4

(=5, —5) 5,51 .(—1, =5) i1 .12

..............................................................................................................................................

................................................................................................................................................

................................................................................................................................................

................................................................................................................................................

................................................................................................................................................




Graph parabolas | (9-12)
iy 40K bl (2631)

Y

Loly Walag) fio pi .0l b ge (S0 pdad ST Walag S|

R ad *» 4

(0, 4) 5,501 €0, 1) Ll .26

..............................................................................................................................................

................................................................................................................................................

................................................................................................................................................

................................................................................................................................................

................................................................................................................................................




Graph parabolas | (9-12)
iy 40K bl (2631)

Y

Loly Walag) fio pi .0l b ge (S0 pdad ST Walag S|
(9, 5) 5,501 (9, 6) 1,0 .31

..............................................................................................................................................

................................................................................................................................................

................................................................................................................................................

................................................................................................................................................

................................................................................................................................................




Write equations of circles

Sl cYoan &1 [2312:17) ]
3 Sladl dalae o g.wl..w:i'
x—h?+y—K2=r? X2+ yt=r? slael dewlall Zicall
(h, k) 0, 0 [EI]
' ' A e | dadl) Cauadg (S o) Suele 13) 8 010 S Dalae iS!
F=3 clasy (1, —=5) 55,4 .3 F=d clasy (=2, —6) 55, .2
(—=7, =3), r = 13 ;5,4 .14 (=3, 1), r = 4 .;5,.)) .13 4, 9), r=6 .5, .12

(0, —6), r =V35 .55, .17 (1,0, r=V15 .50 .16 (=2, -1, r=9 .5, .15



Write equations of circles
(45,19-22) 44

il CYolas 8
ke g JSI Walae S
4' Ay —— 5. 7~ 'y
£3,—2) 2 (4, 0)
—12 -8 |—4 |O X
| | e

(=5, —3) —4

| —6

3, —5) \\ g

AN —10

' - P i




Write equations of circles
sl il (45,19-22) 44
] D 4%
(b e U Wlae s
19. by 20. Bly
T 6
(/ 1,MYG1 4 G 1)
4 217 S~
) %&5__‘, X Z20[ /2 4 6 8 101214X
_p .
(6, —3)
__6_
——8 S
Y |y
2. | (0|, 22. Y
8_6Z4a—20| 2 4N 8X (=5,5) AHRRN
L4 - \\-—
e —16 |8 | O 8 | 1
_8__(0,—6) —sl?
(4, —6)
—10 \—12 /
=12 16 //
—‘14' —|2




Represent and operate with vectors geometrically Example-1-JWet(1A,18,1C) 480

Ll bty Ol i (14) 486

gonia pud g pl g Adguo ga S US OIS 13) Lo LS
Agrie sl aeS o de ) oles¥) LS5 pn ol oSy delad) B 1520slS 15 gl Hlane 2SI 0yl

il aloil sgdas 25 s Jeocie .b
LAg>Cie dweS o2 ag>god) A8lugd) oda .o, 3] g0 olsalg sgdas 25 &J...g lane aS)) ody)

Pl.:a." Oliee e yasd (39 -C

Joay golad) asd) Lansled) Jaas Jaw¥ comdly pascid) aliS alasawl Lplas oo dgaie aeeS s (o))
(e awilsd




Represent and operate with vectors geometrically Example-1-JWet{14,18,1) 430

i ikl Gl J (14 486
{2 00

2] Cagandl alos) o 15° ag) aelal Lo 60 KM de oy 55kend) s 1A

20.2 km/h e, 5,800 Jow¥ oMaddb jals oy 1B

40 N Lb)‘..\.'b.o 3 g2 zl:-}f‘;) J_a_lo (SR T 1C



Represent and operate with vectors geometrically Example-1-JWet{14,18,1) 430

i sl gl e (14) 486

Agnie pud S g Aganie iesS b Wguoga e S LS 13) Lo S5
125 N Lo jluzo s92 a8y g Govicw .1

20 km/h ac w5 L)

) olesl 15 M/S dc ws a5, Jlse

136 km/h e v 4830 o5 s0cls 5,5

b= oo Jan BN o5 s

o U~ W N



Represent and operate with vectors geometrically

i iy gl

10

Example-3 -JUa

482

(22:26)

486

e ) 3Ll (so 3 Jlie -

s 120 ft d9Luet NSO®E 3,90 pusi il gutlg ‘h.ﬂ‘,:dl.i AL ) dasluse US il gudlg dadl Sty LD %)
gD Miald! aud g0 (re (9955 o2y els ‘_.‘I' u,s, d,95 das ps@ aﬁdiab-afuJBOftﬂw,um

AN L [\

o E o 1.6 ft

J__._..u-dﬁL..u.a—qusouE120ftJ__-_-.udﬁL..u_a—pEa

s 80 =+ 50 Jslu puws P JLiesd 5,3 Jled 50°

q JiEes) 3,40 olsab 1.6 0N

S SNPSIPCOI-TINEN > 23, o))

ilaie JeST @3 P o3 Lels Guodl Cew  a=I5L @3
g g LS P+ q t-5‘,_I.=\:¢_ll b)) g wsly gV

uN
o6 P+ q
[N 3.7 in
o'” E
1in : 50 ft

LN - TR 1 25, o)

mgo g LS P+ q mobld) asadd) gu) @3

2 P T+ qQ molbd) ascdd) Leasy ans sl MS e mmio

LelS 2y 30 dslsd) bz o3 3 P + Q Jobo Gwlezs
-PHHLQSQAM'F g_“ ‘.ll‘_z- . ]|&44_*_.-._1_.,_||
Loyas 3.7 0N alo i) asadd) Job Jie

185 ft 5,43 aao 13) 185 ft 51 3.7 x 50

NG66°E 51 2,2 Jleid) gon 66° alosls Loz
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Represent and operate with vectors geometrically

i iy gl

Example-3 -Jue

482

(22:26)

486

Al lnilg Ao S §gen0 b Hlde dio

5 obeo calsll 20 N @ 5,50l aledU 18 N .22

Cgiand) ola) B 350 m & Jleid) ols! o 100 m .23



1 Solve vector problems and resolve vectors into their rectangular components Example-6 -Jlia+(6A,68) 485

aalaiall L0 ] gl uxiy gl s > (38-44,49) 47

>

2 o=
oo, ¥) 1o 33° aglss 44 fH/S dc s (o)) e callny) Cosy 3,80 e S, puldl 3,5 .6

adalaio tL}L.S‘,.a UJ! BQ_EJ' ERW) J__.JJ-.S 9 ‘:,Ja._._la:-é At ) oo [oﬁ A

e ) ac) g a8 S, o)) Hlane o > B



Solve vector problems and resolve vectors into their rectangular components Example-6 -Jla+(6A,68) 485

11

aalaiall L0 ] gl uxiy gl s > (38-44,49) 47

GMLLqﬂMLSﬁUJ'M‘JsMﬁ-GyMMJMﬂ
MM‘ﬂlg ww u...us,g." Gﬂmup

gﬁ'b" S o) ae 310° a9l 2§ cm .38

N49°E alsib 1.5 cm .39



1 Solve vector problems and resolve vectors into their rectangular components Example-6 -Jla+(6A,68) 485

Shaliiall 9Sya J] Olgnial oy Clgaial s Jo (38-44,49) 47

S78°W alail 3.2 cm/h.40

255° aloily % cm/min .41



11

Solve vector problems and resolve vectors into their rectangular components

i S gl oy g s

Example-6 -Jbe+{6A,68)

485

(384449

487

a:-:_..a_g_a_” a_:_,_..u_”_w 5_,5 t.JjJ ‘1;:1 AW _;JJJ-;X a.l_gl:-c_o gﬁ ‘OJ-E-” 3‘,5 .42

alss] RO RERT | POt

UJEEQHIQMJT_M@@%U@L:&MJW@ .a
Badeleie olS o

i) Jg aaa¥) LS, ) aslae o> Wb
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Solve vector problems and resolve vectors into their rectangular components

i S gl oy g s

Example-6 -Jbe+{6A,68)

485

(384449

487

aglp 190 N La,lane 52y 285 dawnSe ame ands pgony waddald) .43

a,¥) e 33°

dlagﬂlon&b&@ﬁg@b&pﬂng .a

Baalaio QL«S_,.Q

i) g ma¥) LS ) palie o> b



1 Solve vector problems and resolve vectors into their rectangular components Example-6 -Jle+{6A,68) 485

Babial S50 J] clgiall iy Clgaiall s > (38-44,49) 47

(bladl Zale &,e dyas aisly puls o @3l Gl .44
E..I_,_\_” 290 2 30o .&e_gl_,_t E.;igl._..ula 55.'&:5 5..1_,_\.” ,L_J.a._i-n_fll JS (W)

120 N zssl) 520l 2L,

g S Ledi o)) 352)) 5laze Lo .2

75 N Lo,lase 353 Legie JS Jis 13 .b
Samld) ssn)) ,lane Lo

5500 13) asald) sga)) jlaw caS €
Suaadl Ligasy (po &) puls



5 Represent and operate with vectors in the coordinate plane Example-1-JUe+{1A,18) 490

Mo el § Clgrtal Jo Cldaal 2y i (1-10) 495

B(3, —5) 4ulgs idalig A(—4, 2) dilay idadd (19S5 Cuon AP =) &S pod! &) guad! s

*

—

= (3 = (=4), =5 — 2) (%, y,) = (3, —=5) 5 (x, yp = (—4, 2)
— <7’ —7> T !

9S00 Ailgadly Do) dady AR — 4S5, el oo
1A. A(=2,-7),B(6,1) 1B. A(0, 8), B(—9, —3)



Represent and operate with vectors in the coordinate plane Example-1 -JUat{1A,18) 490

12
o gl § Cleiall Jo Sl sl o (1-10) 495
dlgly dylad! Sdadiy AB axiedl Jlakeg iS il & 0adl o
- (i 395 el

1. A(=3, 1), B4, 5) 2. A2, =7), B(=6,9)

3. A(10, —2), B(3, —5) 4. A(=2, 7), B(—9, —1)

5. A(=5, —4), B(8, —2) 6. A(—2, 6), B(1 10)

7. A(25, —3), B(—4, 1.5) 8. A(—43, 18), B(9.4, —6.2)

9 A(—1 —9) B(b 5) 3 2

- Al3. —9). B(6, 3 10. A(g, —g), B(—1, 7)



3 _WriteavecturasaIinearcombination of unit vectors | Example-5 -Jla+{SA,58) | 493
bl Cleial 3 3898 dovia S (28-35) 495
J 80 il o> 3885 JS5 e DE CaS) .alased) dlgidly dlad) dolis of axie DE 5 yo ol
5A. D(—6,0), E(2, 5) 5B. D(—3, —8), E(—7,1)
28. D4, —1), E(5, —7) 29. D(9, —6), E(—7, 2) 30. D(3, 1), E(—2, —8) 31. D(95, 1), E(O, —7.3)

32. D(-3, =5.7), E(6, —8.1) 33. D(—4, —6), E9, 5) 34. D(% 3), E(—4,

NN

) 35. D(-3, 15), E(-3, 1.5)



_Find the dot product of two vectors and use the dot product to find the angle between them _ Example-2 -JUa+(2A,28) _ 499

14
g gl oo Jal] 200 il il Jal] Q) 200 ) (10-15) 504
9855ed) dnigdl lade dom¥ Hadll O Al pasil
2A. b= (12, 16) 2B. ¢ =(-1,-7)
10. m = (-3, 11) N r=(-9 -4 12. n= (6,12) 13. v= (1, —18)

14. p= (-7 -2) 15. t = (23, —16)



15

Find the projection of one vector onto another Example-7 -JUs+(7) 503
(35,36) 504
231 4 doxia lada Son) 26 507

" aagd) ko] (0 7 Jt0
Aol 9ds 8 )lw Lo yased aduy (@ dad) Lol Lo Gielugd!
b 90 o8 LS 45° (4uwld Lol gl 120 N La yluie
8 luad) Sl i) Jeadl Jeduod) Jadd) jlade dor
10 m ddlue
10 40 AB dy>gall d3Lud) Jlaza IFl cOS 0 = 120 05 45° y2 AB L F dazuvo Jlaze
W = |proj__. F||AB| Jail dag i) divs

= (120 cos 45°)(10) s> 5! 848.5 | 5

Jinl) oz (EEIEAE ain ozl

{120 cos (—45°),120 . oiasleall ol abligiliimians i F 2,20 S90S a0

{10, 0) & &)kea) &S, gzsell d3lucll 5,0 )50 SIN (—45°))

W=Fe«AB il dadd) o el b dies

= (120 cos (—45°), 120 sin (—45°)) « (10, 0) ol
= [120 cos (—45°)](10) s> s 848.5 ] o juiad) B3l

5Ll B B8 Bl = 8485 I luns Ml as Al JAu, J5)
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Find the projection of one vector onto another Example-7 -JUs+{7) 503
(35,36) 504
s> & doxie Jaiuwe Sl 26 507

dss¥ 15 M dobs jasmea SLle¥ clelin) Juo,s Lol, 2805 cbiwadl .35
= 25':J _J-\J-hl-cJ' 3:191_:;3 534 N 5_93 ,Ia..\:-di_..u:\ JAE] é_gd.’u.a (:’ﬁ
W, adis i) Josdb Jadd) jlazg Ly .and¥) &S,



15

Find the projection of one vector onto another Example-7 -JUs+{7) 503
(35,36) 504
s> & doxie Jaiuwe Sl 26 507

52° (alasal &gl 125 N sgas 3o &,e plan, 205 Gowd) .36

9200 m asl]



Find the projection of one vector onto another Example-7 -JUs+{7) 503

(35,36) 504

331 4 dorie ladaus Sl 26 507

&) Gy Lo ol Jood d,e glale pasvw @2 .26
52d¥) S ) e 30° 4l 25 N als agn

aslie) a,a)) o die Glaly alin i) Jidd) laze Lo .a
150 m

ool Comsy (5,80 g0 40° dglss Jw a,all yaae oS 13) b
) T80 ol 2SI 3aa i Jud sl Guang ddludd) guad & )
il
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Slusl ) sale
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9 STy
https://youtu.be/UEy0OseBltgw

o Bhaall Ll 3l

https://youtu.be/33ai7XPABQA

0562209340 5 ) yall dalud ALY
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Solve systems of linear equations by using Cramer's rule

S 18 il ) c9olne dali] >

Example-4 -JUa+{4A,48)

383

(15-18)

384

g o 0§ () chdasu) ¥slaed) (o pLAD S Jor o ol oS Sueld pasuiul

4A. 8x + 12y — 24z = —40
3x — 8y + 12z =23
2x + 3y — 6z=—10
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Solve systems of linear equations by using Cramer's rule

S 18 il ) c9olne dali] >

Example-4 -JUa+{4A,48)

383

(15-18)

384

g o 0§ () chdasu) ¥slaed) (o pLAD S Jor o ol oS Sueld pasuiul

4B. —2x+4y—z= -3
3x+y+2z2=6
x—3y=1
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Solve systems of linear equations by using Cramer's rule

S 18 il ) c9olne dali] >

Example-4 -JUa+{4A,48)

383

(15-18)

384

g o 0§ () chdasu) ¥slaed) (o pLAD S Jor o ol oS Sueld pasuiul

15. 2x—y+z=1
x+2y—4z=23
4x + 3y — 7z = —8
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Solve systems of linear equations by using Cramer's rule

S 18 il ) c9olne dali] >

Example-4 -JUa+{4A,48)

383

(15-18)

384

g o 0§ () chdasu) ¥slaed) (o pLAD S Jor o ol oS Sueld pasuiul

6. x+y+z=12
ox — 2y —z =16
3x + 4y + 2z = 28



y Solve systems of linear equations by using Cramer's rule Example-4 -JUe+(4A 4B) EhE|
S 18 il ) c9olne dali] > (15-8) 384
g o 0§ () chdasu) ¥slaed) (o pLAD S Jor o ol oS Sueld pasuiul
17. x+2y=12
3y — 4z =25

x + 6y + z = 20
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Solve systems of linear equations by using Cramer's rule

S 18 il ) c9olne dali] >

Example-4 -JUa+{4A,48)

383

(15-18)

384

g o 0§ () chdasu) ¥slaed) (o pLAD S Jor o ol oS Sueld pasuiul

18. 9x + 7y = —30
8y + 5z =11
—3x + 10z =73



. Graph parabolas | Example-5 -Jbe+{5)

416

Ll 288 gl (13,32,33)

417

da g 3lod) (0 5 JEo ¢

il L ! uuS.ng uﬁﬁ.dl ol S l‘.l hl‘,..fldau-ul.l ittt | 4a9llad) ‘,.M L ST |
! d,.a,.gJ'I ELL..JI U" uﬁu...ﬂ ot JSd Ly &l 0 JS 295 u.!lS...ll adadd) &4 ! uu.g.m.'l
.25 ft g.‘l_’.ﬂ.ﬂ g‘,g.'dl Pl Jobo u.ul‘,.ll 3.! 6.25 ft glas ) Jle pis ;lusd!
e S AlSES i) (AL adaddl Aslae ciS) . o) dadi aie adi 8,5 ob o 80 .2

o Sl LM BIS phan)) anad 555 o) came cpuetd) A8l peen L ol) Gt 2

\ Iy y B,5d) s Gul ) e o)
8
\ 6 / (0, —6.25) :,0 1 (0, 0) -5,5.)
o .
\\ 2o o .a=1/25 495 — H 5 25 Cll .25 gasesd) 551 3oll uld
4 Y= ;EI _625(_,-& n'lradjd.lﬁ_..u.iu;_\_l.'f t_,jlj_q_.” (1__19.4_”
—g 0, —6.25) .
¥ 1] Lilo Walag) Jie b

UJL_-J s p:--.uJJ Slaglasll ada ui” 1.:...\_".':-._‘._....:*



Graph parabolas Example-5 -Jba+(5)

416

(il 2 il (13323))

417

o) Bl 8 8,558l el e ;8150 glad JS3 Ly G aassl onﬂji,mww_\_ﬁ ol ple .13

24 ft ngaJ 639.4_|J| ‘.5)9"J‘ )_19J‘9 L}.;J‘JJI 393 6 ft ?_—‘u)-‘ 0)9.4J|

53 599,500l alS iy i) £ 8lSe)) alaz)) Aslas caS) . Lo¥) ddam wie am a,5d) ob oa 280 .2
a8 alaznll JSa

Lole asled) fia b



Graph parabolas Example-5 -Jba+(5) 416

(il 2 il (1332,33) 4

o @) (i aac Ol glad S8 L B e Lels Jeeand) 5,5 o8 Loane Ul ple .32
ole ua,¥) Gle danaws o 5O ft aly gls,) Lad¥ Jua 2,Y) s st o Jsrn 3,5 o)
Com MYl orell Gle Wl ada Jia oS @) 0ol 28 Gle L) @ o o 200 ft o
oo 0 LalS) ahazl) JS& 63 5,500 Hlue dalae o> (Jua¥) dlam ane OIS planl) 5,5 s

us,Y) o 9w e 5,54 obs



Graph parabolas Example-5 -Jba+(5) 416

(il 2 il (1332,33) 4

Lol &iay abloe 55,0 w ),La¥) Jaud deeloal) jLed¥)y dens )¥) ilslsg)) s & plied! .33
146 ft LalSo) adanl) JS i L) o) alda¥) el asl da® g lo Ly oSy ) aolas)) LS ol
ool 350 48 ftglas ) Sle @)% gass

Slac) aismi 3%y e aisid Lo cadall o)l gw,) L@
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Graph circles
18 (3146) 425

Wl plpd o

Loy 850000 o o Ladad Cialy 5503 JS 3550 o

3. x>+ y*=75 32. (x—3)>+y*=4




Graph circles
18 (3146) 425

Wl plpd o

Loy 850000 o o Ladad Cialy 5503 JS 3550 o

33. (x—1)2+ (y — 4)*> =34 34. x> + (y — 14)?> = 144




Graph circles
18 (3146) 425

Wl plpd o

Loy 850000 o o Ladad Cialy 5503 JS 3550 o

M >+ y>+2x+4y=9 42. x> + y?> — 3x + 8y = 20




Graph circles
18 (3146) 425

Wl plpd o

Loy 850000 o o Ladad Cialy 5503 JS 3550 o

45. 2x* + 2y? — 4x + 8y = 32 46. 3x> + 3y> — 6y + 12x =24




Represent and operate with vectors in the coordinate plane

Example-3 -Jte+(3A,3B,3()

491

MYl Sgiall § Clgzmiall o Sldhaall elyrly Jdad

19

(11-18)

495

z2=(-3,0) g w=(—4, 1), y= (2 5) = ;b Lea 35 o>

a. w+y
w+y=(—4,1)+ (2 5) Y
=(—4+2,1+5)or (—2,6) lgaiel) ge>
b. z — 2y
z—2y=z+ (—2)y o> dy0u0 B Tl LS acl
= (=3,0) + (-2)(2,5) vy
= (=3,0) + {~4,~10) s (7, ~10) i o PO NI

a> 90 (13 re5 4

3A. 4w +z 3B. —3w 3C. 2w +4y —z



Represent and operate with vectors in the coordinate plane Example-3 -JUs+(3A,3B,3C) 491

MYl gl § Clgamiall o Cldbaall slp2lg Jiad (11-18) 495

h=(=62)4£=(8 0), g= (-3, —5) dus b Lo %5 o
. 4h—g 12. f+ 2h

13. 3g—5f+h 14. 2f + g — 3h

15. f —2g — 2h 16. h — 4f + 5g

17. 4g—3f+h 18. 6h + 5f — 10g



19 e . A A R Y T T o
Write a vector as a linear combination of unit vectors Example-6 -JUe+(6A,6B) 493
B gl Wlganial Jas 38938 dowie LS (38-43) 495

120° aalos! daglyg 10 a,luie V asie) iyl 8 puat) s>

v = (|v| cos 6, |v| sin 6) 05 IVl WYy V asciell 25,401 5 sl
= (10 cos 120°, 10 sin 120°) 0 = 120° , vl = 10l
_ 1 V3
B <10(_§)’ 10(T)> sin 120° = g 9 c0s120° = —%
= (=5,5V3) o

53850600 alo¥) syl kel vV &Sl & pal) oo

6A. |v| =8, 6=45° 6B. |v| =24, 6 = 210°
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L A ™ - e - e = e

Write a vector as a linear combinati

on of unit vectors Example-6 -JUs+(6A,6B)

493

b il Ja 39S i &S

(38-43)

495

38.

40.

42.

(5 305000 aloni¥ dygl3e sl V asniel) S (o) s guad] dmor

v| =12, 6 = 60° 39. |v| =4, 0=135

v| = 6, 0 = 240° 41. |v| =16, 0 = 330°

v| = 28, § = 273° 43. |v| =15, 6 = 125°



Find the dot product of two vectors and use the dot product to find the angle between them Example-3 -JUe+{3A,3B) 500
2
lagis 3:1 9l .\Lm')l Ubj.ill Jpal C""’ sy () uh.i.'dl Jpal EJB M| (16-24) 504
- - s & o - - *
g— UV oy o) (0 & g (0 £33 i )8 i) g Vg U (rganiod) (s O dagl ) dr
COSU =777
u| |v]

3A. u=(—5,-2) s v=(4,4) 3B. u=(9,5) s v=(—6,7)



Find the dot product of two vectors and use the dot product to find the angle between them Example-3 - JUs+{3A,3B) 500
2

g gl S Jall il o iy gl Jal gl 5 3] (16-24) 504

Ayl (e Gl o s3> AV V g U (o O Dyl Y oo

16. u= (0, —5), v = (1, —4) 17. u=(7,10), v= (4, —4)

19. u=—2i+3j,v=—4i—2j 23. u=—10i+j, v = 10i —5j



